
 

 

Mock Test For Punjab-Haryana High Court Clerk Exam2017 

 

1. At which place Gautama Buddha attained Nirvana (enlightenment)? 

a. Lumbini 

b. Sarnath 

c. Kusinagar 

d. Bodh Gaya 

2. The Red Fort was built by: 

a. Akbar 

b. Shahjahan 

c. Jahangir 

d. Sher Shah 

3. Who introduced dual government in Bengal? 

a. Lord Wellesley 

b. Robert Clive 

c. Mount batten 

d. Lord Curzon 

4. Who among the following introduced Rupiya first time in India? 

a. Akbar 

b. Sher Shah Suri 

c. Jahangir 

d. Ashoka 

5. Who among the following was the first viceroy of India? 

a. Robert Clive 

b. Lord Warren Hastings 

c. Lord William Bentick 



 

 

d. Lord Canning 

6. By which act Supreme Court was set up at Calcutta? 

a. Regulating Act of 1773 

b. Pitts India Act of 1784 

c. Charter Act of 1793 

d. Charter Act of 1893 

7.  How much time it took for Constituent Assembly to finalise the constitution? 

a. 2 Years 11 Months 18 Days 

b. 2 Years 9 Months 8 Days 

c. 2 Years 7 Months 18 Days 

d. 2 Years 5 Months 20 Days 

8. Which Article gives "Protection against arrest and detention in certain cases"? 

a. Article 24 

b. Article 23 

c. Article 22 

d. Article 21 

9.  Which of the following is not a constitutional body? 

a. Election Commission 

b. NITI Aayog 

c. National Advisory Council 

d. Inter State Council 

10. Punjab was divided into Punjab and Haryana in the year? 

a. 1966 

b. 1967 

c. 1968 

d. 1969 



 

 

11. In which country Asia-Pacific Economic Cooperation (APEC) summit was held? 

a. Cambodia 

b. Vietnam 

c. Laos 

d. China 

12. Which day is celebrated as National Science Day? 

a. Jan 28th 

b. Feb 28th 

c. March 28th 

d. April 28th 

 

13. In which state Chilka Lake is located 

a. Andhra Pradesh 

b. Telanagana 

c. Tamil nadu 

d. Orissa 

14. Barren island is India’s only 

a. Dormant Volcano 

b. Extinct Volcano 

c. Active Volcano 

15. In which state Country’s First ITI for Divyangans was established? 

a. Punjab 

b. Assam 

c. Haryana 

d. Arunachal Pradesh 

16. Recently which of the following state/UT became associate member of BCCI? 



 

 

a. Tamil Nadu 

b. Goa 

c. Haryana 

d. Puducherry 

17. Which state Assembly became First in India to Call Motions Online? 

a. Punjba 

b. Rajasthan 

c. Madhya Pradesh 

d. Maharastra 

18. Which temple has been adjudged best ‘Swachh Iconic Place’ in India? 

a. Meenakshi Sundareswarar Temple  in Madurai 

b. Golden Temple in Amritsar 

c. Tirumala 

d. None 

19. In which city Global Entrepreneurship Summit 2017 was held? 

a. Hyderabad 

b. Chennai 

c. Bangalore 

d. Mumbai 

20. Which article provides "Equal Justice and free legal aid”? 

a. Article 39 

b. Article 39 A 

c. Article 43 

d. Article 43 A 

21. Which day is celebrated as NRI day (Pravasi Bharatiya Diwas) in India? 

a. Jan 9th 



 

 

b. Jan 12th 

c. Jan 15th 

d. Jan 1oth 

22. Which is the highest peak in India? 

a. Mount Everest 

b. K2  

c. Kanchenjunga 

d. Nanda devi 

23. The Outer Himalayas is known as  

a. Himadri 

b. Shiwaliks 

c. Himachal 

d. Pirpanjal 

24. Which is the largest state in India by area? 

a. Rajasthan 

b. Madhya Pradesh 

c. Maharastra 

d. Jammu & Kashmir 

25. In which state Jim Corbet National Park is located? 

a. Assam 

b. Arunachal Pradesh 

c. Maharashtra 

d. Uttarakhand 

26.On which day International Women’s day celebrated? 

a. Feb 8th 

b. Jan 8th 



 

 

c. April 8th 

d. March 8th 

27. Who was the father of Operation Flood ? 

a. Dr. Norman Borlaug 

b. Dr. M.S. Swaminathan 

c. Dr. Verghese Kurien 

d. Dr. William Gande 

28. Green Revolution started in the year 

a. 1964-65 

b. 1965-66 

c. 1966-67 

d. 1967-68 

29. Gilt-edged market means 

a. market of government securities 

b. bullion market 

c. market dealing with metals 

d. market dealing with exports 

30. What is the full form of FEMA? 

a. First Exchange Management Act 

b. Foreign Exchequer Management Act 

c. Foreign Exchange Management Act 

d. Foreign Evaluation Management Act 

31. In which state/UT 1st ever All India Institute of Ayurveda was inaugurated? 

a. New Delhi 

b. Mumbai 

c. Bangalore 



 

 

d. Chennai 

32. who is the chairman of Commission to Examine Sub-Categorisation of OBCs? 

a. Justice Misra 

b. Justice Jagadish singh 

c. Justice HL Dattu 

d. Justice Rohini 

33. Recently G-20 Finance Ministers and Central Bank Governors (FMCBG) Meeting was held in 

a. Washington 

b. Beijing 

c. New Delhi 

d. Moscow? 

34. Who is the author of the book The Coalition Years 1996-2012? 

a. Manmohn Singh 

b. Sonia Gandhi 

c. Prabab Mukherjee 

d. LK Advani 

35. Who is the present chairman of NITI Aayog? 

a. Amitabh Khanth 

b. Rajiv Kumar 

c. Misra 

d. Modi 

36. What is the name of Sikh man who becomes first minority politician to lead major party in 
Canada? 

a. Jagadish Singh 

b. Amrit Kaur 

c. Jagmeet Singh, 

d. Justin Trudeau 



 

 

 

 

 

 

37. Which of the following is known as Lender of last resort? 

a. RBI 

b. Finance Ministry 

c. Monetary policy committee 

d. None 

38. what is the present base year for calculation of GDP? 

a. 2004-05 

b. 2010-11 

c. 2011-12 

d. 2015-16 

39. Which of the following organisation calculates GDP? 

a. CSO 

b. RBI 

c. NITI Aayog 

d. None of the above 

40. By which constitutional amendment act, GST came into force? 

a. 100 

b. 101 

c. 99 

d. 102 

41. Electric bulb filament is made of 

a. Tungsten 



 

 

b. Aluminum 

c. Copper 

d. Iron 

42. Which of the following is used in Pencils? 

a. Silicon 

b. Graphite 

c. Charcoal 

d. None of the above 

43. Washing Soda is the common name for 

a. Sodium Carbonate 

b. Sodium Bi carbonated 

c. Sodium Chloride 

d. Sodium Sulphate 

44. Nonstick cooking utensils are coated with 

a. Teflon 

b. PVC 

c. Polystyrene 

d. None of the above 

45. Which of the following Disease is caused by Virus? 

a. Typhoid 

b. Cholera 

c. Tetanus 

d. Small Pox 

46. What is the rank of India in Ease of doing business? 

a. 121 

b. 116 



 

 

c. 90 

d. 100 

47. BRICS bank is also known as 

a. New Development Bank 

b. Asian Development Bank 

c. IMF 

d. None of the above 

48. In which year Home rule movement was launched in India? 

a. 1914 

b. 1913 

c. 1915 

d. 1917 

49. What is the rank of India in Global Hunger Index? 

a. 90 

b. 100 

c. 110 

d. 120 

50. Gautama Buddha's first Sermon took place at  

a. Lumbini 

b. Sarnath 

c. Kusinagar 

d. Bodh Gaya 

51. Who is known as Frontier Gandhi? 

a. Khan Abdul Ghaffar Khan 

b. Sardar Vallabhai Patel 

c. Mohamad Ali Jinnah 



 

 

d. Abul Kalam Azad 

52. From which constitution fundamental duities were taken? 

a. Britan 

b. USA 

c. USSR 

d. Germany 

53. Presently how many high courts presented in India? 

a. 21 

b. 22 

c. 23 

d. 24 

54. Which high court has the Jursidiction over Lakshadweep? 

a. Goa 

b. Kerala 

c. Mumbai 

d. Madras 

55. Which article mentions about advisory Jursidiction of Supreme court? 

a. Article 111 

b. Article 123 

c. Article 143 

d. Article 121  

56. The headquarters of world trade organisation is in 

a. Montreal 

b. Geneva 

c. New jersey 

d. New York 



 

 

57. For which state Recently Banwarlal Purohit was appointed as governor? 

a. Tamil Nadu 

b. Andhra Pradesh 

c. Haryana 

d. Maharatsra 

58. Which of the following is related to Navika Sagara Parakrama? 

a. INS Tarini 

b. INS Vishaka 

c. INS Shiwaliks 

d. None of the above 

59. Recently who among the following was appointed as special representative in Jammu and 
Kashmir? 

a. Rajiv Misra 

b. Dinesh Sharma 

c. Sindhu Shree 

d. Swaran Singh 

60. Which article is known as Dead letter by Ambedkar? 

a. Article 356 

b. Article 360 

c. Article 32 

d. Article 21 

 

Directions (61-65) find the wrongly spelt word 

61.  

a. nevertheless  

b. neutral  

c. neurotic  



 

 

d.no mistakes 

62.  

a. carriage  

b. carburator  

c. chauffeur  

d.no mistakes 

63.  

a. conjunction 

 b. preposition  

c. capitolization  

d. no mistakes 

64. 

a. vague  

b.trepidation 

 c. vengence  

d.no mistakes 

65. 

a. requirement  

b.reverence 

 c. resistent  

d. no mistakes 

Directions (66-70): Choose the synonym for each of the words in italics. 

66. Which word means the same as proximity?  

a. distance  

b. agreement  

c. nearness 



 

 

 d. intelligence 

67. Which word means the same as collaborate?  

a. cooperate  

b. convince  

c. entice  

d. elaborate 

68. Which word means the same as negligible?  

a. insignificant  

b. delicate  

c. meaningful  

d. illegible 

69. Which word means the same as despair?  

a. mourning  

b. disregard  

c. hopelessness  

d. loneliness 

70. Which word means the same as flagrant?  

a. secret  

b. worthless 

 c. noble  

d. glaring 

Directions (71-75): For each of the following words, choose the word that means the opposite or 
most nearly the opposite.  

71. Harmony  

a. noise  

b. brevity 

 c. safety  



 

 

d. discord 

72. Infantile  

a. despicable  

b. adolescent 

 c. mature 

 d. perpetual 

73. Virtue  

a. reality 

 b. fact  

c. vice  

d. amateur 

74. Tranquil  

a. agitated  

b. explicit 

 c. sluggish  

d. composed 

75. Nimble  

a. sturdy 

 b.sluggish 

 c. thoughtless 

 d. relaxed 

Directions (76-80): Choose the best word to fill the blank. 

76. Despite her ________ dress, she was a simple girl at heart.  

a. sophisticated 

 b. casual  

c. shoddy  



 

 

d. personable 

77. My computer was state-of-the-art when I bought it three years ago, but now it is ________.  

a. flammable  

b. desolate 

 c. retroactive  

d. outmoded 

78. We knew everything about the newest member of our group; she was very ________.  

a. expressive 

 b. brash 

 c. reserved  

d. egotistical 

79. Rachel ________ a plan to become a millionaire by age thirty. 

 a. conformed  

b. devised  

c. curtailed  

d. condoned 

80. After the ________ of his license, he was forbidden to drive.  

a. institution  

b. foundation  

c. revocation 

d. preservation 

Directions (81-85): Answer the Questions based on the following passage 

Probably no town, city, or state in this country is immune to the (81) ________ that always surrounds 
attempts to cut government budgets. Many communities are already faced with (82) ________ 
expenses related to high labor costs, costly social services, and shrinking tax bases. In (83) ________, 
some think we are paying for the unprecedented government spending of the last decade. The (84) 
________ of opinion today, however, seems to be that budgets must be cut, though such cuts 
threaten to (85) ________ the services to the neediest groups of people.  



 

 

81.  

a. controversy  

b. praise 

 c. admiration  

d. applause 

82.  

a. equitable 

 b. sensible 

 c. exorbitant  

d. reasonable 

83.  

a. general 

 b. retrospect  

c. conclusion  

d. denial 

84.  

 a. consensus  

b. compromise 

 c. confrontation  

d. cooperation  

85.  

a. preserve 

 b. conserve  

c. safeguard  

d. diminish 

(86-90): Directions For the following sentences, choose the sentence that contains a misspelled 
word. If there are no mistakes, choose answer d. 



 

 

86.  

a. Mercury is a poisonous substance.  

b. Todd served in the militery for twenty years.  

c. Their relationship suffered as a result of his immaturity.  

d.no mistakes  

87.  

a. She did not even aknowledge my presence.  

b. Do you think this is an attainable goal?  

c. For the fiftieth time, the answer is no.  

d.no mistakes  

88.  

a. There is a five-year warranty on this appliance.  

b. Measure both the length and the width of the table.  

c. How many wittnesses do we have?  

d. no mistakes  

89.  

a. Harry is a kind-hearted man.  

b. We have a fundamental difference of opinion.  

c. Your behavior can only be described as professional.  

d.no mistakes  

90. 

 a. A bad decision could have been detrimental to her health.  

B .Coffee is a stimulant.  

c. The color scheme in the living room was monochromatic.  

d. no mistakes 

 



 

 

91. Which of the following movement is known as leaderless movement? 

(a) Noncooperation movement 

(b) Swadeshi movement 

(c) Quit India movement 

92. Which of the following is called Chicken neck of India? 

(a) Siliguri corridor 

(b) Chumbi Valley 

(c) Doklam 

(d) Jammu & Kashmir 

93. Under whose primeministership diplomatic ties with Israel began? 

a. Narendra Modi 

b. Man Mohan Singh 

c. Atal Bihari Vajpayee 

d. PV Narasimha Rao  

94. Recently which BRICS summit was held in China? 

a. 7th 

b. 8th 

c. 9th 

d. 10th 

95. Article 263 of the Indian constitution deals with 

(a) Zonal councils 

(b) Interstate councils 

(c) Planning commission 

(d) GST 

96. The main objective of NITI Aayog is to promote? 

(a) Cooperative Federalism 



 

 

(b) Federalism 

(c) Competitive Federalism 

(d) Centralizing relation between union and states 

97. Present secretary general of UN belongs to which country? 

(a) Spain 

(b) Portugal 

(c) France 

(d) USA 

98. Which constitutional amendment is called mini constitution? 

(a) 44th constitutional amendment 

(b) 42nd constitutional amendment 

(c) 100nd constitutional amendment 

(d) 101 constitutional amendment 

99. Who founded Indian House in London? 

(a) V V Savarakar 

(b) Mahatma Gandhi 

(c) Shyamji Krishna Varma 

 (d) Sardar Vallabhai Patel 

100. Yoga Day is celebrated on? 

(a) June 21 

(b) January 21 

(c) July 21 

(d) September 21 

 

Error Spotting 

101. (A) The government contended/(B) that she could not be/(C) commissioned as she has/(D) 
rejected the offer earlier./(E) No Error  



 

 

102. (A) The plane that crashed in Colombia/(B) was out of fuel, had no electric/(C) power and was 
preparing for an emergency/(D) landing when it crashed/.(E) No error  

103. (A) The astronomical phenomena of Aurora Borealis/(B), commonly known as Northern 
Lights/(C), is caused when the Sun's energy/(D) produce a 'Solar Storm', spreading charged 
particles across space./(E) No error  

104. (A) Dictionary has named 'Xenophobia' as Word/(B) of the Year for 2016. Xenophobia 
refers/(C) to the fear or hatred for foreigners/(D), people from different cultures or strangers/(E). 
No error  

105. (A) To the wake of demonetisation, a Noida-based/(B) startup named Tailmill is making 
home/ (C) deliveries of cash up to Rs. 1,000 per day/(D) per customer in valid currency notes./(E) 
No error 

106. (A) This comes amid an ongoing territorial/(B) dispute among Israel and Palestine which 
started in/(C) 1948. Palestine has been a non-member/(D) 'Observer' state in the UN since 2012./ 
(E) No error  

107. (A) A study on Mumbai parents have revealed nearly 75% /(B) mothers subject their children 
to helicopter-style parenting/(C), characterised by tendencies of overseeing their/(D) child's life and 
rescuing them at the first sight of trouble./(E) No error  

108. (A) Paragraph development continues with an /(B) expression of the rationale or the 
explanation that the/(C) writer gives for how the reader should/(D) interpret the informations 
presented in the idea statement or topic sentence of the paragraph./(E) No error  

109. (A) The government said NGOs and/(B) voluntary organisations (VOs) need to /(C) register 
itself with NITI Aayog to receive/(D) grant-in-aid from the Centre./(E) No error  

110. (A) Sambhaji Brigade, one of the group/(B) organising Maratha protests across/(C) 
Maharashtra, is set to become/(D) a political party, reports said./(E) No error 

Directions: Choose the best word to fill the blank 

116. Due to slippery road conditions and the slope of the narrow, winding highway, the car ________ 
down the steep mountainous road. 
 
a. dissented 
b. ventilated 
c. careened 
d. agitated 
 
117. The fire alarm ________ beckoned the volunteer fireman of the small community to come to 
action. 



 

 

 
a. indifferently 
b. frightfully 
c. symbolically 
d. audibly 
 
118. After running an early 5K race, Simone ________ devoured a hearty breakfast. 
 
a. dynamically 
b. voraciously 
c. generously 
d. contemptuously 
 
119. The participants in the road rally agreed to ________ near the village commons by five ‘o’ clock. 
 
a. rendezvous 
b. scatter 
c. filibuster 
d. disperse 
 
120. The ________ data supports the belief that there has been a population increase. 
 
a. nominal 
b. demographic 
c. pragmatic 
d. nocturnal 
 

Choose the meaning for given idioms 

121. To have an axe to grind 

a. A private end to serve 

b. To have no result 

c. To work for both sides 

d. None 

122. In Black and white 

a. In short 



 

 

b. Useless 

c. In writing 

d. in full swing 

123. To beat the air 

a. To act intelligently 

b. To make a great effort 

c. To make every possible effect 

d. Making useless efforts 

124. To cry Wolf 

a. To give false alaram 

b. To listen eagerly 

c. To keep starvation 

d. To make a great effort 

125. A black sheep 

a. Odd member in a group 

b. Lucky person 

c. beautiful person 

d. ugly person 

 

In the following Questions out of four alternatives choose the one which can substituted for the 
give word or sentence 

126. Gift left by will 

a. Legacy 

b. Alimony 

c. Property 

d. Parimony 

127. Study of classification of organisms is known as 



 

 

a. Zoology 

b. Taxonomy 

c. Botany 

d. Ecology 

128. Someone who leaves one country to settle in another 

a. Emigrant 

b. visitor 

c. settler 

d. none 

129. A series of stars is known as 

a. Milk way 

b. Galaxy 

c. constellation 

d. group 

130. A lover of mankind 

a. Agonist 

b. Cynic 

c. Philanthropist 

d. None of the above 

 For the following questions, choose the answer that best completes the comparison 
 
131. Flashy: garish:: gaudy : ________ 
 
a. refined 
b. muted 
c. tawdry 
d. subdued 
 
132. traitor: deserter :: renegade : ________ 
 



 

 

a. diehard 
b. driver 
c. loyalist 
d. insurgent 
 
133. etiquette : protocol :: statute : ________ 
 
a. decree 
b. promotion 
c. modicum 
d. contradiction 
 
134. Prominent: conspicuous :: gaunt : ________ 
 
a. haggard 
b. elated 
c. ostentatious 
d. familiar 
 
135. Outlandish: conservative :: reserved : ________ 
 
a. modest 
b. garrulous 
c. appeased 
d. failed 

For the following questions, choose the word that does not belong with the others. 
 
 
136.  
 
a. impassioned 
b. vehement 
c. emphatic 
d. apathetic 
 
137.  
 
a. savory 
b. distasteful 
c. piquant 



 

 

d. aromatic 
 
138.  
a. dissent 
b. sanction 
c. concur 
d. assent 
 
139.  
a. devout 
b. fervent 
c. zealous 
d. dispirited 
 
140.  
a. proficient 
b. inept 
c. deft 
d. adroit 
 

Directions: Choose the word opposite in meaning to the given word as your answer 

141. Cautious 
a. considerate 
b. noble 
c. proper 
d. reckless 

 
142. Distress 
a. comfort 
b. reward 
c. trouble 
d. compromise 
 
143. Stray 
a. remain 
b. inhabit 
c. wander 
d. incline 



 

 

 
144. Bleak 
a. desperate 
b. dreary 
c. bright 
d. fond 
 

145. Soothe 
a. increase 
b. comfort 
c. aggravate 
d. delight 

Fill in the blanks with the most suitable words from the given options 

Cyber criminals have two objectives: find targets that will yield high payoff for their ____ (146) __ 
and attack those high payoff targets that offer the least resistance. Their business model is simple: 
the least efforts for the greatest ___ (147) __ gain. A company’s business methods, customer list, 
and many other forms of digital data are valuable to them as they can sell that data to your 
competitors both at home and abroad. In the last 15 years, we have witnessed a transition from 
mischief makers and pranksters to brigands with destructive intent to brigades of hackers working 
in concert for profit. Broad opportunistic, scattershot attacks designed for mischief and mayhem 
have been___ (148) __ by sophisticated attacks that are advance, targeted, stealthy, and persistent. 
They include organised cyber crime entities and state-sponsored campaigns __ (149) __ to as 
advanced persistent threat (APT) attacks. These attackers are highly motivated, well organised 
and ___ (150) ___. These new cyber attacks are not a single event. They unfold in multiple co-
ordinated stages, with calculated steps to get in, establish a ___ (151) __, and survey the victim’s 
network and ex-filtrate data. 
The threat is almost the same because national intelligence is so important to an enemy. The 
business model is to exfiltrate as much intelligence data as you can. Cost to attack is __ (152 __ a 
consideration because the intelligence data is so valuable to your enemy. When it comes to 
protecting sensitive intelligence, the Indian government is not doing enough. The biggest challenge 
is that senior officials do not understand the seriousness of the threat or accept the __ (153) __ of 
the threat actors. Governments can ___ (154) __  this by doing the simple things properly. 
Implement aggressive threat awareness programs for everyone who uses a computer. Keep your 
systems current through enforced patch management programs, ___ (155) __ and use the newest 
versions of malware detection programmes. Doing these basic things itself will go a long way. 
 
(146) (a) efforts 
(b) order 
(c) past 



 

 

(d) Pardon 
(e) reference 
 
(147) (a) moral 
(b) educational 
(c) social 
(d) nominal 
(e) financial 
 
(148) (a) sponsored 
(b) suspended 
(c) correlated 
(d) eclipsed 
(e) outraged 
 
(149) (a) laid 
(b) glanced 
(c) referred 
(d) inserted 
(e) indicated 
 
(150) (a) fussy 
(b) unpredictable 
(c) beneficial 
(d) trustworthy 
(e) honorary 
 
(151) (a) settlement 
(b) infrastructure 
(c) purchase 
(d) defense 
(e) foothold 
 
(152) (a) rarely 
(b) violently 
(c) notably 
(d) unusually 
(e) vitally 
 
(153) (a) matter 



 

 

(b) validity 
(c) reality 
(d) entity 
(e) certainty 
 
(154) (a) focus 
(b) rectify 
(c) corner 
(d) compose 
(e) upset 
 
(155) (a) commands 
(b) accepted 
(c) recommends 
(d) install 
(e) invest 
 

Choose the Correct Spelling 

156. 
Grametical 
Grammetical 
Grammatical 
Gramatical 
 
157. 
Efflorascence 
Efflorescence 
Efllorescence 
Eflorescence 
 
158. 
Aliennate 
Allienate 
Alienate 
Alienatte 
 
159. 
Mustach 
Moustach 



 

 

Mustacche 
Moustache 
 
160. 
Argumant 
Arguemant 
Argument 
Arguement 
 
20. 
Tresspass 
Trespass 
Tresspas 
Trespas 
 

162. Translate the following passage into English 

    ਇਕ        ਇ           ਭ            ਭ     ਕ            ਕ       ਕ                         ਕ         

            ਕ     '   ਕ                     ਕ        ਕ   ਕ            ਉ        ਕ          ।        ਕ              

                         ਈ        ਜ    ਇਜ                                    29                       । 

               ਕ      ਕ         ਕ 10       ਜ ਭ   ਕ             ਕ                ਈ          ਈ       ਜ      

    ਕ ਕ       ਜ               ਉ     ਕ  ਜ                    ਇ    ।  ਕ                         ਕ         -

                       ਕ              । 

 

163. Write an essay on any one of the following topics 

a. Problem of Increasing Population 
b. If I were Chief Minister of Punjab 
c. Benefits of Yoga 
d. Climate Change: A threat to world 

 

 


